
1

1380x400x495

-------



2

1380x400x495

-------



3

*Doors should be worked in before using
- Move doors back and forth 15x before attaching knobs
Maintanace:
- Rub candlewax or paraffin wax on the bottom of the groove
- Move doors back and forth 15x

*Les portes doivent être travaillées avant utilisation 
- Déplacez les portes d’avant en arrière 15x avant de fixer les boutons 
Maintanace: 
- Frottez la cire de bougie ou la cire de paraffine au fond de la rainure 
- Déplacez les portes d’avant en arrière 15x

*Las puertas deben trabajarse antes de usar 
- Mueva las puertas hacia adelante y hacia atrás 15x antes de colocar las perillas 
Mantenimiento: 
- Frotar cera de vela o cera de parafina en la parte inferior de la ranura 
- Mueva las puertas hacia adelante y hacia atrás 15x

Doors unjamming

 ~15 x

 ~15 x



4

A

B

H

H

C

G

F

G

D

J
K

K

K

K

I

I

EL

ER



5

A1 x14

8x40 mm

A2 x10

34 mm

A3 x10

15 mm

A6 x4

58x66 mm

A4 x6

20 mm

A7 x16

3,5x16 mm

A10 x2

+ screw 3x20 mm

A16 x1

HEX 4 mm

A14 x8

5 mm

A15 x1

HEX 3 mm

A12 x4

3,5x25 mm

A8 x4

4,5x50 mm

A5 x10

5x50 mm

A9 x4

17 mm

A13 x2

L=186 mm

A11 x8

+ screw 3x20 mm



6

A

1

C

D

F

A1

A1

A1

A1

A1

A1

A1

A1

A1

A1

A1

A1 x14

8x40 mm

EL

ER



7

B

2

B

B

A2 A2

A2 A2

A2

A2

A2

A2

A2
A2

A2

ASSEMBLY / KOKOONPANO / IHOPSÄTTNING / KOKKUPANEK / 
MONTĀŽA / SURINKIMAS
ASSEMBLY / KOKOONPANO / IHOPSÄTTNING / KOKKUPANEK / 
MONTĀŽA / SURINKIMAS

ASSEMBLY / KOKOONPANO / IHOPSÄTTNING / KOKKUPANEK / 
MONTĀŽA / SURINKIMAS

A2

A2 x10

34 mm



8

A3 x4

15 mm

A16 x1

HEX 4 mm

C

3

B

B

D

D

C

C

A3

A3

A16
A3

A3

A3



9

A3 x6

15 mm

A4 x6

20 mm

A16 x1

HEX 4 mm

C

D

4

B

B

D

F

FE

C

A3

A3
A3

A3

A3

A3
A4

A4

A4

A4
A4

A4

A16

A4

A3

A2

EL

ER



10

E

5

A

A

A6

A7

A7

A6

A7
A7

A7
A7

A7
A7

A7
A7

A6

A7
A7

A7
A7

A6 A7
A7

A7
A7

A6

A7

A7

A6 x4

58x66 mm

A7 x16

3,5x16 mm



11

E

F

G

6

7

A

A

J

J

J

J

A1

A1

A8

A8

A8

A8

A8

A1

A1

A1

A1 x4

8x40 mm

A8 x4

4,5x50 mm



12

H

8

A

A

D

F

C

A5 A5

A5 A5

A5

A5

A5A5

A15

A5

A5
A5

A15 x1

HEX 3 mm

A5 x10

5x50 mm

EL

ER



13

H

I

J

9

A

K

K

K

K

K

K

A9

A9

A9

A6

A9

A9

A9 x4

17 mm



14

K

L

10

B

B

A

I

I

A



15

L

11

B

A

A

B

I

I



16

M

12

H

H

B

B



17

T

13

H

H

A

A

D



18

M

T

14

H
B

H

B



19

M

T

15

H

A

H

A

C



20

R

S

R

S

16

H

H
A10

A10

A10

A11
A11
A11

A11
A11

A11

A11

A11

max. 30 mm

max. 30 mm

max. 30 mm

max. 30 mm

A11

A11

A=B

A B90°

A10 x2

+ screw 3x20 mm

A11 x8

+ screw 3x20 mm



21

R

S

R

S
N

17

I

I
A12

A13

A13

A13

A12

A12 x4

3,5x25 mm

A13 x2

L=186 mm



22

O

18

F

F

A14

A14

A14

A14

A14 

A14 x8

5 mm

EL

ER

ER



23

O

19

G

G

MAX
15 KG

MAX
10 KG

MAX
10 KG



24


